4. An oscillating current I(#) is applied to a circular capacitor. First draw a path over which to apply Am-

pere’s law inside the capacitor and apply it in a side view of the capacitor. Assume B = uol(t)s/(24)0
where A is the area of the capacn;or and s is the radial Elstance from the symmetry axis.
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5. Assume that the theory of gravity is analogous to that of electricity and magnetism. For the analogous
magnetic forces what do you expect to happen to a satellite orbiting a rotating planet with the axis
of rotation of both along the same direction and explain the analogy.
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